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BBA/M-15 14114
BUSINIESS MATHEMA'TIOS-IT _
Paper—BEA 112
Time Allowed : 3 ﬁours]

Note : Attempt five questions in all. Question No. 1 js
compalsery, All guestions carcy equial marks.
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Compulsory Question ( fard 99 )

1. (a} What will be the value of % if the distanco between
the peints (x, -2 and (-8, 2) ha 107
2 OREOROEM, AR R s, -8) @R o8, 2
% d= oF gl 10 gw?
(b} Prove that the paints A(1, 4), B(-3, 16) .élzd
Ci{3, —2) are collinear?
g @ifs & fag AqQ, 4), B3, 16) it
(3, —2) T #
{e) I V10, p and 0.50 are in I4.P., then Gnd the
valine af .
G V10, p IR 050 HP. % £, 91 p® WA T
ERIES
14).14/R/15354/7 (‘G0
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(@) Evaluate the integral : |7 +3)dy.

-2

-
A= goaima wifET ]L}':+3ld:-'_
3

: N P AP A
{e} Ewvaluste : jk TR = I .
T FNE ¢ S Ao
(}  Simplify : log,b . log,c . logd . loga. 16

L el S = L log,b . logyc . logd | logga.

{a) T whet ratio is the line segment joining the
points P(5, —4) and Q{(2, 3) divided by the
x-axis? Find the co-ordinates of the point of
division.

59 gqIm ¥ l@res W) PG, ) &R

2, 2) F TR T xR oW fawiEms Fm

¢? fammm % fog % fluis @m =ifew

(b} Find the equation of the straight line passing
through the peoint (2, 5) and making equal
intercepts of cpposite sign on the axis.

faz (2. 5@ wmm @ e T wh aw @
WU0E A R SUE @09 §hF aien o
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{¢) Find the ratio in which the join of (-5, 1) and fb) Find four numbers in A.P. whaose sum is 20 and
(1, =3} divide the straight line passing through the sum of whose squares is 120.
(3, 4) and (7, &). 548 .. " -
| . Hore AP ¥ =R deEiU wia &ifae, feder 9 20
IE AT TR FS | (-5, 1) AT (1, -3 W g ot foms @ w1 W 120 B
\‘ 3 4 1 i b 3 =4 et 3
M, (3, 4) I “;8’ q4 ¢ T A e {¢) Find four numbers between 0.50 and 1/12 such
= famfer s 2 that all numbers form a harmenic progression.
6+H4+5
3. (a) Find the equatmn of the straight line passing N e e e A
through (4, -..: end at & perpendicular distance 0.50 #AT /12 & &9 YW =W wEEnN ITa
of 2 units from the origin. e = fr 4 g emitE e w T
™OW ) @R & ey @ owm s 7
4.1 WO R OEA s S W 5 (3a) Which of the numbers A = 3% 4nd B = (3% 4+ 338

[HF IR FEww + 8% + . + 3% is larger?

A=3% ST B = (35435 + 352 + 4 30 Famal
4§ ®° @ a7 22

(b) The original cost of a machine is 10,00,000. If it
depreciates in value, 256% the first year, 21%
the next vear, 17% the third year and se on,
what will be its velue al the end of 8 years, all
percentages upplying to the original cost?
TE A B 0@ oe 10.00.000 313X 39w
T H 25% BUT Y, 21% IFTE @6 3T 17%
dat 8y & st 38§ wimg we wWd e

g g & ¥a3 ¥ WE YR T T, qo

e o ¥l yievs 1D Ty

! A maymnvests D5, 8,000 monthly in Equity Shares

for five months. Ble buys shares ut prices of
Rs. 10, Rs. 12, Us i85, Rs. 20 asd Rs. 30 per

(b) Find the equations of the diagonals of the
rectangle whose sides are x = 2, x = -1,y = §
and y = 2,

,

T & faem W T G e At T, 1'_:"{1.'"1
T x=2 x=-1, v=830 y=27%
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(e} Prove that the jines $x — 4y + 5 = 0 and Tx ~ 3v
+5 =0 and 4x + By = 45 are roncurrent. Alse
find the point of concwrrency. 84545

fog =i & T Sx-dy + 5203 7x -
8y + 5 =0 3R 4x + 5y = 45 WHadt ¥, wfufs
W Ay 9 WmoFteg

4. {a) Find the suwm of 0 termis of the WTieR

ey el =] b =2,
SEE T = ) B o o

o Share respocivelr for five mwonths. What is the
03 + 033490393 , : * Wi oo
average price paid pec sharve! 5+G+
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% I e WA ® fag wwm oo A
mﬁs,coomﬁé&wm%uaﬁvﬁnﬁ#
% faT wum: 1089, 12 ¥, 15 598, 20 v
3T 80 ¥ wig viat =1 Fhd W vt @dem
2t wfd ¥ W e w stad wiag w8

6. {a) What is Integration of a Function? Explain.

TE TR W @ R e wifwn

(b) Evaluate the following :
fefafer = qwres sife .

c 1
. 2,1 _2+—]d§’
@ -E[{ vy y

(i) [8(x* +7x+3)" (2x+ D dx. 4+12

™

Evaluate the following :
frafafen =1 genss sty -

G) [=1+x* dx
o .
ai) f(2v+ 9V )ay
-3

Gi) [VE-2+0dt 16
-1
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8. (@ Ilog, (x~9)+logyx1=0, findx,
A log,, (x - 9) logyox 1 = 0, x 9@ =Hifaw

() Evaluate (Jeaiay Hifsa)

-7 210g6 + 6log 2
4log2+log 27 ~log 9’

{¢) . There iz 40% increase in an amount in § FEears
at simple interest. What will be the compound

interest of Rs. 50,000 after 2 years at the same
rate?

m*mmmmsmfﬁ'wwffm%‘qrz
gﬁlaﬁ’rr{v{zaﬁrﬁaﬁﬁﬂ,ﬂﬂomﬁw
Tmyfe snw @r b

(d) A man borrows Rs. 10,000 from & monéy-lender
and the bill is renewed after every half year at

en increase of 21%. What time will elapse before
it reaches Rs, 1,00,0007

urauuony Mmm/rdpy

[you may use : log,, 121 = 2.082). 23+345+5

TF AH O EER § 10,000 T9F IUR S
%ﬁﬁaamﬁaﬁ@mm%ﬁqﬁ:
T AGFT Fi #1 1,00,000 % F Bed ¥ we

W Fean wmy g smmn?

(39 39T B 7w T : log,, 121 = 2.082).
14114/K/1354/7,000 6
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